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BACHELOR’S DEGREE PROGRAMME
(BDP)

Term-End Examination

December, 2024
AMK-1 : MARKETING

Time : 2 Hours Maximum Marks : 50

Note : Attempt both Part A and Part B.

Part-A
1. DDistinguish between any two of the following :
5+5=10
(a) Product concept and Production concept

(b) Product mix and Product line

(c) Marketing of goods and Marketing of

services

(d) Brand Name and Trademark

2. Write short notes on any two of the following :
5+5=10

(a) Communication process
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(b) Market segmentation
(c) Maslow’s need hierarchy theory

(d) New Product Development Process
Part—B

Note : Attempt any three questions from the

following.

3. Elaborate the consumer buying process. Cite
the example of buying any refrigerator. 10

4. “Packaging is a necessary evil.” Comment on
this statement. Cite legal dimensions of

packaging. 8+2=10

5. Discuss the role and importance of pricing.
Explain profit-oriented pricing objective and

sales volume-oriented objective. 6+4=10

6. Explain the term ‘middlemen’. Discuss various
types of middlemen. 2+8=10

7. Explain the various tasks involved in physical
distribution. Comment on how e-Commerce has

changed the distribution scenario. 8+2=10
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